
1) Find area of triangle 
a = 80 cm, b = 97 cm

Answer: ____________

2) Round 8.988359 to 3 significant 
figures.

Answer: ____________

3)
25

3 /6

Answer: ____________

4)
18 Find Volume of 
                         Pentagonal Pyramid

17
17

Answer: ____________

5) Simplify 6:4

Answer: ____________

6) Round 15.51718 to 1 significant 
figures.

Answer: ____________

7) Solve by factorising 
s2 - 2s - 3 = 0

Answer: ____________

8) 15.7 x 7.5

Answer: ____________

9) 49.6 + 52.7

Answer: ____________

10) Round 24.64348 to the nearest 1000

Answer: ____________

11) (-99) - 33

Answer: ____________

12) 39.68 ÷ 12.4

Answer: ____________

13) Find perimeter of 
rectangle having 
sides a = 94 in 
and b = 60 in

Answer: ____________

14) b

a o c
Measure angle boc

Answer: ____________

15) Round 4.8451 to the nearest 100

Answer: ____________

16) 18 x 100

Answer: ____________

17) 102/3 ÷ 52/9

Answer: ____________

18)
49

5 /10

Answer: ____________

19) Find the mean of the following set of data:

0, 5, 2

Answer: ____________

20) 53 - (-61)

Answer: ____________

Total: ___ / 20
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Answers:

1) 2771.2812921102cm 2) 8.99 3) 5 4) 2983.3078126213 5) 3 : 2 6) 20 7) s = 3 or -1

8) 117.75 9) 102.3 10) 24.643 11) -132 12) 3.2 13) 308in 14) 143

15) 4.85 16) 1800 17) 22÷47 18) 7 19) 2.33 20) 114
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